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Exercise 9.4
Question 1:
Multiply the binomials:
(i) (2x+5) and (4x-3)
(i) (y-8)and (3y-4)
(ii)  (2.5/-0.5m) and (2.5/+0.5m)
(iv)  (a+3b) and (x+5)

(v) (2pq+3q2) and (3pq—2q3)
[2(1’+3b ] and 4[:7 ——b ]
4 3
#. Answer 1:

(i) (2x+5)x(4x—3)=2x(4x—-3)+5(4x-3)
= 2xx4x—2xx3+5x4x—5x%3
= 8x° —6x+20x-15
= 8x* +14x-15
(ii) (y—8)x(3y—4)=y(3y—-4)-8(3y—4)
= yx3y—yx4—-8x3y—8x—4
=3y’ —4y-24y+12
=3y" 28y +12
(iii) (2.51-0.5m) ><(2.5[+0.5m) =2.51%(2.51+0.5m)—0.5mx(2.51 +0.5m)

= 2.5[x2.51+0.5[x0.5m—0.5mx=2.5[ —0.5mx0.5m
= 6.25I* +1.25im—1.25Im—0.25m*
= 6.251* —0.25m’
(iv) (a+3b)x(x+5)=a(x+5)+3b(x+5)
= axx+ax5+3bxx+3bx5
= ax+5a+3bx+15b

™ (2pg+3¢°)(3pa—29") = 2pgx(3pa—24")+3q" (3pg—24")
= 2pgx3pq—2pgx2q°+3q° x3pg—3q° x 24
= 6p’q’ —4pq’ +9pq’ 64"
= 6p°q’ +5pq’ —6¢"

(vi) (Eal +3bz)><-4[a2 42,[;3) =(§a2 +3bz]><(4a2 4§b2)
4 3 4 3
=§az ><(4La2 —§b2)+3b2 ><(4a2 _§sz
4 3 3

éafx‘ﬁla —éa xgb +3b* x4a® - 3b° ><8b2
4 4 3 3
= 3a" —2a*h* +12a°b* —8b*

= 3a* +10a’b* -8b*
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Question 2:

Find the product:
(i) (5-2x)(3+x) (i) (x+7y)(7x-y)
(iii) (az+b)(a+b2) (iv) (pz—qz)(2p+q)
€. Answer 2:
(i) (5-2x)(3+x)=5%(3+x)—2x(3+x) = 5x3+5xx—2xx3—-2xxx

=15+5x—6x—2x* = 15— x—2x>

(i) (x+7y)(7x—y)=x(Tx-y)+Tyx(Tx-y)
= xxTx—xxy+TyxTx—Tyxy
= 7x2—zy+4913?—7y2
= 7x* +48xy-Ty’

(iii) (a2+b)(a+b2)=alx(a+b2)+bx(a+b2)
= a*xa+a’*xb* +bxa+bxb®
=a' +a’h’ +ab+b’

v) (P -4°)2p+q)=p'x(2p+9)—4" (2p+q)
= p'2><2p+pz><q—ql><2p—q2 xq

3

=2p'+p’q-2pq’ —q

Question 3:

Simplify:
@  (F-5)(x+5)+25
(ii) (a2+5)( 2~+~3)+5
(i) (r+5)(-s)
(iv) (a+b)(c—d)+(a-b)(c+d)+2(ac+bd)
() (x+3)(2x+y)+(x425)(x-)
(i) (x+ v)(xj—,xy+y )
(vii) (L.5x—4y)(1.5x+4y+3)-4.5x+12y
(viii) (a+b+c)(a+b—-c)
€. Answer 3:
(i) (x*=5)(x+5)+25=x"(x+5)=5(x+5)+25

= ¥ xx+x x5-5xx—5%x5+25
X +5x1—5x-25+25
452 =5%
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(i) (a*+5)(b* +3)+5=a" (b’ +3)+5(b" +3)+5
=a*xb +a*x3+5xb° +5%x3+5
= a’b’ +3a® +5b° +15+5
= a*b* +3a° +5b° +20

(iii) (t+sz)(t2—s)=t(tz—s)+sz(t:—s)

2 2 2 2
X —tXS+8 XI"—8"X§

r" —St+ szl‘2 —i°

(iv) (a+b)(c—d)+(a—b)(c+d)+2(ac+bd)
=a(c—d)+b(c—d)+a(c+d)—b(c+d)+2m'+ 2bd

ac—ad +bc—bd + ac+ ad —bc—bd + 2ac+ 2bd
ac+ac—ad +ad +bc—bc—bd —bd + 2ac+ 2bd
2ac—2bd +2ac+2bd

I
o
)
)

W (x+y)(2x+y)+(x+2y)(x—y)=x(2x+ y)+ y(2x+ y)+x(x—y)+ 2y (x— )
= 2 +xy+2xy+ Yy +x* —xy+2xy—2y°
=2x° + X+ xy+2xy —xy +2xy+ y* — 2y’

= 3x° +4xy—y’

(vi) (x+y)(xl—.xy+ y2)=x(x2—,\y+ y2)+ y(xz—,\y+y2)
= ALty -t 4+
=x =xXy+Xy+xy’ —xy* +y

3
=x+y

(vii) (1.5x—4y)(1.5x+4y+3)—4.5x+12y
=1.5x(1.5x+4y+3)—4y(1.5x+4y+3)-4.5x+12y
= 2.25x" +6.0xy+4.5x—6.0xy—16y* —12y—4.5x+12y
= 2.25x° +6.0xy—6.0xy +4.5x—4.5x—16y* —12y+12y
= 2.25x* —16y*

(viii)  (a+b+c)(a+b—c)=a(a+b—c)+b(a+b—c)+c(a+b-c)
a*+ab—ac+ab+b* —bc+ac+bc—c?

a* +ab+ab—ac+ac—bc+bc+b* —c?

a +b*—c* +2ab
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